
 

 

 

Petite aide si besoin 

183 - 77 

77 c'est 80 -3 

donc (183 - 80) + 3  

 

 

 

 

 

 

 

80 x 40 = ....... 

 

 183 - 77 = ......... 

 

59  : 7 = ...... r ...... 1 11 21 

 

 900 x 70 = ......  

 

 96 - 68 = ......... 

 

 63 : 9 = ........ 2 12 22 

 

600 x 50 = .......  

 

 345 - 39 = ......... 

 

 630 : 9 = 3 13 23 

 

 40 x 300 = ....... 

 

 469 - 39 = ......... 

 

 32 : 8 = ......... 4 14 24 

 

 80 x 700 = ....... 

 

 192 - 86 = ......... 

 

320 : 8 = ......... 5 15 25 

 

20 x 200 = ....... 

 

 764 - 19 = ......... 

 

95 : 10 = ...... r ....... 6 16 26 

 

 50 x 900 = ....... 

 

 230 - 97 = ......... 

 

 79 : 8 = ...... r .......  7 17 27 

 

 300 x 30 = ....... 

 

 112 - 98 = ........ 

 

 39 : 12 = ..... r ...... 8 18 28 

 

 70 x ..... = 28 000  

 

 726 - 18 = ......... 

 

74 : 9 = ....... r ...... 9 19 29 

 
 90 x ... =72 000 

 

 471 - 58 = ......... 

 

 83 : 8 = ....... r ....... 10 20 30 

CHRONOMATH 


